The Water Cycle

Drag and drop the correct answer from the word bank below to
fill in the paragraph.

atmosphere condensation heavy cold
Heat water Evaporation clouds
precipitation

The Sun’s changes water from the Earth’s
oceans into vapour. This part of the water cycle
is called

The invisible vapour rises into the ;
where the air temperature is cold. The air
causes the vapour to change into water droplets and
. This part of the water cycle is called

The clouds get heavier and heavier with water droplets. When
the droplets are enough, they begin to fall
from the clouds as :

The cycle then starts again.
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